There are two scenarios in this case.

· First Case: When pre-pmt amount (paid to emp)is less than the actual expense of exp:  
                      For ex:- Pre-payment amount given to emp: 7,000

                        Actual expense of the employee:    10,000

            Solution: Apply the whole pre-pmt amount towards expense report, for the        

                             balance of amount raise an exp report and make the pmt.

1. Raise a pre-payment of 7000 & make a payment of it to the employee.

2. When employee submits his bills for actual expenses for 10,000

3. This indicates that you have to pay an additional amount of 3000 to him.

4. Apply the whole pre-pmt amount of 7000 towards expense report     

      ( assuming u have already created an exp report )
5. For the balance of amount of 3000 raise an exp report and make the   

Pmt.

· Second Case: When pre-pmt amount (paid to emp) is more than the actual expense of emp: In this case the emp has to refund balance of amount for this following steps can be followed.


1.   Raise a pre-payment (5000)



2.   Make the pre-payment to EMP. 
3.  Employee has submitted bill for his actual expense of 3000. So he has   

                              to return a balance of  2000

4. Raise an expense report for the actual exp of employee.( as per                   

         example for 3000)


            5.   Apply pre-pmt to expense report (exp report liability gets cleared)

    
            6.  Now need to take a refund from employee for the amount of 2000.  

                              Refunds can only be taken against debit/credit memo’s as per AP 
                              Functionality.       

7.   Raise a debit memo of Rs.2000 and apply refund to it. [To get a refund 
       of 2000 from supplier (EMP)

8. Now still pre-pmt shows available balance of 2000, to cancel this one

      raise a standard invoice for Rs.2000
9. Apply pre-pmt balance of Rs.2000 to the raised standard invoice. (pre-
       pmt balance gets nullified)

Note: When you raise a debit memo charge it a control account.

Entry comes as Liability account Dr       [this should be mapped to control account]

                               To   Charge/Expense.
When u raise a standard invoice charge it the same control account. 
Control account gets nullified [because of debit memo and standard invoice][image: image1.png]



